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4.4 x10= 1.87 x10= | 4.4 x10= 1.87 x10=
9.4 x10= 8.93 x10= " 9.4 x10= 8.93 x10=
7.1 x10= 2.56 x10= : 7.1 x10= 2.56 x10=
9.4 x10= 4.93 x10= | 94 x10= 4.93 x10=
89 x10= ______ 7.77 x10= | gaxio= 7.77 x10=
1.7 x10= _______ 8.85 x10= : 1.7 x10= 8.85 x10=
4.8 x10= 5.34 x10= | 4.8 x10= 5.34 x10=
7.8 x10= 9.24 x10= | 7.8 x10= 9.24 x10=
5.1 x10= 3.26 x10= | 5.1 x10= 3.26 x10=
87 x10= ______ 2.28 x10= : 87 x10= 2.28 x10=
3.7 x10= 3.12 x10= | 3.7 x10= 3.12 x10=
39 x10= 2.49 x10= | 39x10= 2.49 x10=
6.5 x10= 2.25 x10= | 6.5 x10= 2.25 x10=
9.3 x10= 2.58 x10= : 9.3 x10= 2.58 x10=
5.6 x10= 4.22 x10= | 5.6 x10= 4.22 x10=
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Multiplying Decimal Numbers by 10

4.4 x10=44
9.4 x 10=94
7.1 x10=71
9.4 x 10=94
8.9 x 10=89
1.7 x10=17
4.8 x10=48
7.8 x10=78
5.1 x10=51
8.7 x10=87
3.7 x10=37
3.9 x10=39
6.5 x10=65
9.3 x10=93

5.6 x10=56

Answers

1.87 x10=18.7
8.93 x10=89.3
2.56 x10=25.6
4.93 x10=49.3
7.77 x10=77.7
8.85 x10=88.5
5.34 x10=53.4
9.24 x10=92.4
3.26 x10=32.6
2.28 x10=22.8
3.12 x10=31.2
2.49 x10=24.9
2.25 x10=22.5
2.58 x10=25.8
4.22 x10=42.2
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